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1 HFRER 39 40 79 10.0 69. 0 41 | ERESC 47 56 103 20.0 83.0
2 EERET 38 39 77 7.0 70.0 42 e 45 43 88 4.0 84.0
3 HRTHEE 48 42 90 19.0 71.0 43 | )= 45 47 92 8.0 84.0
4 EHKIE 44 39 83 11.0 72.0 44 BFEH 47 46 93 9.0 84.0
5 BAARYEFE] 44 37 81 8.0 73.0 45 | fEEPHEZ 50 51 101 17.0 84.0
6  /NEpEE 41 42 83 10.0 73.0 46 | BEHEAZ 47 58 105 20.0 85.0
7 FEEEE 45 39 84 9.0 75.0 47 | HPARTH 45 46 91 5.0 86. 0
8  IH/KE 49 45 94 19.0 75.0 48 bR HTE 50 47 97 11.0 86.0
9 | LIARERK 43 42 85 8.0 77.0 49 | PEHER 49 49 98 12.0 86. 0
10 | HRIERE 44 43 87 10.0 77.0 50 | HHEE 51 48 99 13.0 86. 0
11 | HE® 44 47 91 14.0 77.0 51 | /NIFEA 47 52 99 13.0 86. 0
12 fwALTH 46 51 97 20. 0 77.0 52 | TaHTE 50 54 104 17.0 87.0
13 A AR 38 46 84 6.0 78.0 53 | ikAHLAE 52 46 98 10.0 88.0
14 FHAEET 43 45 88 10.0 78.0 54 | HPEgER 49 50 99 11.0 88.0
15 | o H 45 46 91 13.0 78.0 55 | JIIEY 53 50 103 15.0 88.0
16 | JRAAR— 50 48 98 20.0 78.0 56 | WH_LEIEEE 48 48 96 7.0 89.0
17 | HARTE 52 48 100 22.0 78.0 57 | i )Af 50 59 109 20.0 89.0
18 | ZFJRfHIR 43 43 86 7.0 79.0 58 | JEHFE = 51 53 104 14.0 90. 0
19 | BAARAE 47 42 89 10.0 79.0 59 | EFIT- 55 56 111 20.0 91.0
20  VHEIR 46 46 92 13.0 79.0 60 | 7 H—fH 55 58 113 22.0 91.0
21 | Fd/AF0 46 40 86 6.0 80. 0 61 | S#EHLE 5L 54 66 120 28.0 92.0
22 | KRARE# 48 40 88 8.0 80. 0
23 | EZREREIT 42 46 88 8.0 80. 0
24 AREFN 46 43 89 9.0 80. 0
25 BRITERE 50 43 93 13.0 80. 0
26 | KJRZEHE 46 48 94 14.0 80. 0
27 | RN 48 49 97 17.0 80. 0
28 | Hi)IFEAER 44 46 90 9.0 81.0
29 | 0L 45 46 91 10.0 81.0
30 HY&ET 46 47 93 12.0 81.0
31 FHHEFE— 51 49 100 19.0 81.0
32 | ES-EER 51 47 98 16.0 82.0
33 MEJE— 53 46 99 17.0 82.0
34 | Rz 48 40 88 5.0 83.0
35 | FPEA 48 41 89 6.0 83.0
36 | O 47 45 92 9.0 83.0
37 AETE 42 50 92 9.0 83.0
38 | EPHEE 45 48 93 10.0 83.0
39 {BAEEA 43 50 93 10.0 83.0
40 | (& 54 49 103 20.0 83.0
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